Nom : MATH 9 ﬁv
R
Test 1 | Nombres entiers L Chatelard
Exercice 1 (24 points)
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Exercice 2 (64 points)
[grad 4 —7 —3 5 — 4 —7 —5 5
—4 —4
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2 2
-5 -5
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—4 24
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-5 48
Exercice 3 (10 points)
a) -5-10+3-3 e S fy 56 +7+2 S e
b) 4-2 +8 e T g) 15—-8-3 S
c) 28 +7-3 +2 = hy 1+10~+2-1 =
d =35 +7-(=3) e i) 16+36 +9-2 S
e) 72 +(-9)-(-3)+2=___ iy 7 +(-1-3+4 =

Exercice 4 (2 points + 2 points bonus)

Ajoutez les parenthéses nécessaires :
a) 6 -5 —-—4 = 24+ 1 =4
b) 6 -5 —4 + 2 + 1 =19

Complétezavec « + », « — », « * », « =+ »:
c 1 2 3 4 5= 15
d 1 2 3 4 5= -13



